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Answers - Worksheet A

a ix’+c

g ix+c

a =xX2+3x+c

e =1x+3x+c
i =] @+x?) dx
=2x-x"'+c¢

a =§y%+c

d —3y%+c

g :J y* dx
:%y%+c

] =j y%dx
:%y%+c

a =2 —t+c

e =[ (y°+y)dy

— 1,2 1
= -3yt 3yt

i =] (@0~ %p) dp

— 1,4 1 A2
=zp—-zptcC

h —-6x'+c

b ixX'+c ¢ ix¥+c d

N

i 4xX+c

b =3x-2¢+¢ c

=] (¢-3x) dx

—1\4_ 3
—ZX—E)(2+C

«

o= =)k

-1 1.2
=1+ ix?+c

b =2y2+c
e =$y%+c
h =j 7y 2 dx
=14y’ +c
k =J. Sy* dx
:_%y_3+c

b =J. (2r + r%)dr c

3
=r’+ 2r+c

f =ix-2x+c ¢

ol

j =4y—ﬁy%+c k

-ix®+c e Bx+c f x’+c
1 18 3,2
Ix¥+c  k -ixP+c | -3x?+c
=7x-3ix+c d =1+ 1x+x+c

=j(x2—4x+4) dx h =3+ 1ix’-6x+c

=1x-2¢+4x+c

=[ @*-3d)dx | = (¢-8+16x7) dx

=2 -x+c =1’ -8x—16x"+¢
o :2y%+c
f =15y%+c
i ='[ 1y? dx
= -lyt+c
I :j %y_%dx
=2yi+c

=J'(9p2—6p+1) dpd =2¢+ %x%+ c

=3p’-3p°+p+c

=[@+2dt  h =3r-2ri+c
=itt+2t+c

=[ (Ax?+2) dx | =] (2 + &) dt
= -Ixt+2x+c = 4t +6t2+c
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5 =x’— 1x*+6x+cC =ix'—ix*+x¥-5x+c ¢ :_[ (¢ —x—2x) dx
=ix-1x-x+c

=_[ (x+ 4x%+4) dx

3
=13+ ExT+4x+c
=_[ (3x°- 2x?) dx

— _ 12 241
= 8X +3X +C

yz'[ (8x+3) dx
y=4C+3x+cC

y:'[ 0C+3C+3x+1)dx e

y=3x'+x3+ 2 +x+c

y=] (3x?- %) dx

y=-3x'-1ix+c

y
y

y
y

y
y

| @C+3¢-8x-12) dx f
x4 - 4¢-12x+c

[ @-ac+ach dx i

X+4x - 4x+c

=] (3xX°-x) dx
=ix-1x’+c
=] (2x-3x?) o f

=2 —6X2+C

=[ @oc®-2¢%) ax i

= 5x2+2x1+cC
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1 a X+x+c

b y=x*+x+c
(1,5) = 5=1+1+c
. c=3
y=x+x+3

2 a yzj (3-6x) dx
y=3x-3¢+c
(2,1) > 1=6-12+c
wc=7
y=3x-3x+7

c yzj (¢ + 4x + 1) dx
y=1x’+2¢+x+c
(-3,4) = 4=-9+18-3+c
L c=-2
y=1x’+2¢ +x-2

e y:J. (8x—2x7?) dx
y=4C¢+2X +c
1,-1) = -1=1+4+c
. Cc=-6

y=4C¢+2X'-6

3 =] @+2x-x) dx

f(x) =3x+x—1x’+c
(35 = 5=9+9-9+c
. c=—4

f(x) =3x+xX—1x’-4

b y=] 3¢-x dx

y=x-1x+c

(4,41 = 41=64-8+cC

. ¢c=-15
y=x-1x-15

yzj (7-5x-x3) dx
y=7x— $x*- ix'+c
(2,00 = 0=14-10-4+c
. c=0

y=7x— 3x* - 1x'

y=[ (3-x')
y=3x—-2x?+c

4,8 = 8=12-1L +¢
. C=3

3
2

=3x— 2 4
y=3X— £X°+ 3

y= '[ (10x% - 2x_%) dx

y= 4XE—Axi+C
y=0 when x=7

s 7=0+0+c
c=7

L Y= A4+ T

when x=4
y=4(32)-42) +7
y =127
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5 9= | (2¢-x-8) dx f0)= [ (3¢ -8x-5) dx
f(x) = i1x'— 1x*—8x+c f(x) =xX*—4¢ -5x+¢C
(-1,4) = 4=1-1+8+c (0,00 = 0=0+c
. c=-4 . ¢c=0
f(x) = ix'— 1x*—8x—4 f(x) = x* — 4x° — 5x
ax=2 y=8-2-16-4=-14 = X(>x* — 4x — 5)
gad=16-2-8=6 =X(x+ 1)(x-5)
L y+t14=6(x—2) crosses x-axiswhen f(x) =0
[y=6x-26] - (-1,0)and (5, 0)
7 yzj (3x + 2x7?) dx a yzj (3¢ + kx) dx

=3x¢-2t+c

y=8 when x=2

.. 8=6-1+cC
c=3

Ly=3xX-2x"+3

whenx =
y:g—4+3
y=-3

y=x+1kcé+c

(1,6) = 6=1+3k+c
5=1k+c (1)

(2,1) > 1=8+2k+c

-7=2k+c 2
-1 -12=3k
k=-8
b sub. -7=-16+c
c=9
L y=xX-4%+9
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Nlw

1 =13+ 4x° —3x+cC

Wl

3 a f()=] (3 +2x-5) dx
=X +xX*-5x+¢C
(3,22 = 22=27+9-15+c¢
c=1
=X+ -5x+1
b g(x) =(x+3)(¢-2x+1)
=X -2¢+x+3¢-6x+3
=x+x*-5x+3
= (x) + 2
C Y 4

y=g(x)ﬂ /y=f(x)
-3 /\\1 .

// 0 X

5 grad of tangent=12-8-1=3

tangent passes through (0, 0)
- tangent: y=3x
when x=2, y=6

", curve passes through (2, 6)
curve. y= j (3¢ —4x—1) dx
y=xX-2¢-x+c
(2,6) > 6=8-8-2+c
c=8
LYy=X—2¢-x+8

a
b

b
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9= [ (1-6x%) dx

=x+3x?’+¢C
1,-2) = -2=1+3+c
c=-6

f(x):x—6+x_32
Xx=2=y=-13 gad=1
.~ grad of normal = -4

y+ B =—4(x-2)

4y +13=-16x + 32
16x+4y—19=0

=2X+6X°

=1x+3 +c

S
& i

—5&

2

y= (3x%—2x7%)dx

= 2x¢ — 4%t +¢C

4,7 = T7=208)-42+c
7=16-8+c
c=-1

SLy= 2%t — 4xt -1

when x=3

y=6/3-4/3 -1

y=24/3 -1
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7 = [ 0¢+ax+4) dx 8 a f(=] (3-2x-3) dx
:%x3+2x2+4x+c =x-x-3x+c
= 1x2 (-2,0) = 0=-8-4+6+cC
=%x%+c c=6
L f()=xX-xX—-3x+6
b x=1 = y=1-1-3+6=3
gad=3-2-3=-2
" y-3=-2(x-1)
y—-3=-2x+2
y=5-2x
9 y=j (2x— 3x7?) dx 10 a =-ix%+c
=+ 3L+ b j x—2x+1
y=0a x=1 j(%— x2+x2)dx
~0=1+3+c = 2xF — 4% + 2% +¢
c=-4
_ 3
. y—x2—4+—
4y _o46x7
dx?
L2y
'dexz 2y
=x3(2+6X7°) — 20¢ - 4+ 3xY)
=2¢+6X - 2C+8-6x"
=8 [k=8]
11 i) = [ (@¢-8x dx 12 ay=|[(k-x?) d
=x'-4¢+c y=kx— 2x +¢
(2,-5) = -5=16-16+cC (1,-2) = —2=k-2+c
c=-5 O=k+c (D
L) =x'-4¢-5 (4,5 = 5=4k-4+c
X—4¢-5=0 9=4k+c (2)
(¢+1)(*-5)=0 2-(1) 9=3k
x*=-1[nosols] or 5 k=3

x=2/5
. (—/5,0),(+/5,0)

b gad=3-1=2
-. grad of normal =

N|H

Ly+2=-3(x-1)
2y+4=—-x+1
X+2y+3=0
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